C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a 2 with the value of 200 or 2 hundreds?
A. 4,297 B. 5,826 C. 972 D. 625

Which choice has a4 with the value of 4,000 or 4 thousands?
A. 4,258 B. 96,487 C. 48,319 D. 9,164

Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 627,819 B. 86,423 C. 48,912 D. 178,295

Which choice has a9 with the value of 90 or 9 tens?
A. 849 B. 769 C.29 D. 92

Which choice has a 7 with the value of 700 or 7 hundreds?
A. 537 B. 2,379 C.374 D. 791

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 1962 B. 74,985 C. 7,986 D. 39,258

Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 17,392 B. 78,623 C. 254,763 D. 64,275

Which choice has a 1 with the value of 10 or 1 ten?
A. 516 B. 561 C. 163 D.71

Which choice has a5 with the value of 500 or 5 hundreds?
A. 5,243 B. 2,953 C. 395 D. 2,576

Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 6,249 B. 98,564 C. 65,312 D. 4,536

Which choice has a7 with the value of 70,000 or 7 ten thousands?
A. 937,652 B. 714,923 C. 472,639 D. 54,637

Which choice has a7 with the value of 70 or 7 tens?

Answers

10.
11.

12.

C
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A.57 B. 527 C. 487 D.574
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Answer Key

Solve each problem.

1) Which choice has a 2 with the value of 200 or 2 hundreds?
A. 4,297 B. 5,826 C. 972 D. 625

2) Which choice has a 4 with the value of 4,000 or 4 thousands?
A. 4,258 B. 96,487 C. 48,319 D. 9,164

3) Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 627,819 B. 86,423 C. 48,912 D. 178,295

4) Which choice has a9 with the value of 90 or 9 tens?
A. 849 B. 769 C.29 D. 92

5) Which choice has a 7 with the value of 700 or 7 hundreds?
A. 537 B. 2,379 C.374 D. 791

6) Which choice has a 9 with the value of 9,000 or 9 thousands?
A. 1962 B. 74,985 C. 7,986 D. 39,258

7) 'Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 17,392 B. 78,623 C. 254,763 D. 64,275

8) Which choice has a1 with the value of 10 or 1 ten?
A. 516 B. 561 C. 163 D.71

9) Which choice has a5 with the value of 500 or 5 hundreds?
A. 5,243 B. 2,953 C. 395 D. 2,576

10) Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 6,249 B. 98,564 C. 65,312 D. 4,536

11) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 937,652 B. 714,923 C. 472,639 D. 54,637

12) Which choice has a 7 with the value of 70 or 7 tens?
A.57 B. 527 C. 487 D.574

Answers
1. A
2. A
3 A
2. D
5. D
6. D
7 B
g A
9. D
0. A
1 C
1. D
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